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a) log,32 = b) log,s5 = a) log,8 = b) log, 18 =
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c) log, 4 d) log, 16 = c) log, 12 = d) log, 1.5 =
e) logs5 = f) log,2 =
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8) logs 3 = h) logs v2 = ) logy  —lo, 5 =
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) log,(3 4 +/5) +log,(3—+/5) =
c) logzx =2 d) log,;x =3
d) 3logs 15 —logs 135 =
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M a) - loglo 125 + loglo —_ = loglo 03 =
a) log,(M x N) =1log, M +log, N b) loga(ﬁ) =log, M —log, N 3 8]
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b) log, n + log, c + log, 1 =

THDEEICKD, a9l = b HRDIID. TOWD@MDD ¢ ZERET DNBEMDZEICKD, log, b
% log.a Clog, b TKRE. [BONICNERDEBRATNEF(END. ]

c) log, M" =rlog, M

log,3 =m DEE, log, 6, logy2 & m TRE.
a) log, 6 = b) log;2 =
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a) log, b -logya =

b) log, b -logy c -log,a =
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